578

2. Versuche mit wasserreicherem Alkohol.

A. Kailan,

Tabelle IL

w, = 07302,

i

¢ =106523; 4 =0:0909; C=31'41; g —4:62;

¢ (a—x)
05 4-48
350 372
8:50 280
860 2:76
19:50  1-44
19-62 1-45
2620 110

¢ = 0:3255; 14— 00957

~1
1
=]

44-85
44-95
66-50
6656

Mittelwerte. . .

Wy, = 0330,
(a—x) ber. Diff.
447 +0-01
Sl +0-01
270 +0-05
20D +0:03
1:44 =+0-00
1:43 +0-02
0-97 +0-13
Mittelwerte. . .

kber, = 0-02612;
%, =—2:83; v = 024,

e

W0 Do
a—x 13
4-57 —
378 0-01115
2:83 0-01096
244 0:01104
1556 0-01055
1-58 0-01034
087 0-01017
0-98 0-01010

0-01052

k ber. = 0:01042;
f% = +0-95; v = 0"081.
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C= 15°67; 'a =461}

kje

+0410
0391
0398
0398
0393
0365

-0389 -




